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ECONOMICS

(318)
f'k{kd vafdr ewY;kadu i=k

TUTOR MARKED ASSIGNMENT

oqQy vad % 20
Max. Marks : 20

fVIi.kh% (i) lHkh iz'uksa osQ mÙkj nsus vfuok;Z gSaA izR;sd iz'u osQ vad mlosQ lkeus fn, x, gSaA
Note: All questions are compulsory. The marks alloted for each question are given at

same place.

(ii) mÙkj iqfLrdk osQ izFke ì"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u osQUnz dk uke
vkSj fo"k; Li"V 'kCnksa esa fyf[k,A
Write your name, enrollment number, AI name and subject on the top of the first
page of the answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.

(a) Hkkjr osQ Ñf"k esa fuEu mRikndrk osQ nks dkj.k nhft,A (ikB&1 ns[ksaa)
Give 2 reasons of low productivity of agriculture in India. (See Lesson-1)

(b) Hkkjr dks fu;ksftr vFkZO;oLFkk D;ksa dgk tkrk gS\ (ikB&1 ns[ksaa)
Why is India called planned economy? (See Lesson-1)

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.

(a) Hkkjr osQ tula[;k esa of̀¼ dk eq[; dkj.k D;k gSa\ (ikB&1 ns[ksa)
What is the main cause of increase in population in India? (See Lesson-1)

(b) Hkkjr esa fu;kstu osQ nks mn~ns'; fyf[k,A (ikB&2 ns[ksa)
Write two objectives of planning in India? (See Lesson-2)

3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.

(a) vYi fodflr ns'kksa dh lkekU; fo'ks"krk,a D;k gSa\ (ikB&3 ns[ksa)
What are the common features of under developed countries? (See Lesson-3

(b) /kj.kh; fodkl osQ vFkZ dks le>kb,A (ikB&3 ns[ksa)
What do you mean by Sustainable Development? ( See Lesson-3)
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4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one out of the following questions in about 100 to 150 words.

(a) ,d uxj esa 45 ifjokjksa dk] muosQ }kjk iz;ksx fd;s x;s ?kjsyw midj.kksa dh la[;k osQ fy;s losZ{k.k
fd;k x;kA uhps fn;s x;s mÙkj osQ vk/kj ij vkof̀Ùk lkj.kh rS;kj dhft;s% (ikB&6 ns[ksa)
1 3 2 2 2 2 1 2 1 2 2 3 3 3 3

3 3 2 3 2 2 6 1 6 2 1 5 1 5 3

2 4 2 7 4 2 4 3 4 2 0 2 1 4 3

In a city 45 families were surveyed for the number of domestic appliances they used. Prepare
a frequency array based on their reply as recorded below: (See Lesson- 6)

1 3 2 2 2 2 1 2 1 2 2 3 3 3 3

3 3 2 3 2 2 6 1 6 2 1 5 1 5 3

2 4 2 7 4 2 4 3 4 2 0 2 1 4 3

(b) f}rh;d vkadM+s D;k gksrs gSa\ Hkkjr esa buosQ oqQN izeq[k lzksrksa osQ uke crkb,\

What is secondary data? Name some of its sources in India.

5- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one out of the following questions in about 100 to 150 words.a

(a) uhps fn;s x;s 40 Nk=kksa osQ vadksa ls viothZ jhfr ls vkof̀Ùk caVu rkfydk dh jpuk dhft;s%
(ikB&6 ns[ksa)

10 15 30 45 50 60 15 5

12 17 35 25 40 70 20 15

6 26 69 36 30 75 34 20

20 35 64 67 20 55 46 40

50 45 30 24 10 35 52 60

Prepare a frequency distribution table by exclusive method from the marks of 40 students
given below taking the first class as 0–10 : (See Lesson-6)

10 15 30 45 50 60 15 5

12 17 35 25 40 70 20 15

6 26 69 36 30 75 34 20

20 35 64 67 20 55 46 40

50 45 30 24 10 35 52 60
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(b) ,d fo|ky; osQ 40 Nk=kksa osQ vkdM+ksa eas izkIr vadksa dh vkof̀Ùk caVu rkfydk uhps nh xbZ gSA blls
^ls de* rFkk ^ls vf/d* lap;h vkof̀Ùk dh rkfydk rS;kj dhft;sA (ikB&6 ns[ksa)

d{kk fo|kFkhZ;ksa dh la[;k
0–20 5
20–40 7
40–60 23
60–80 3
80–100 2

Following is the frequency distribution table of the mark obtained by 40 students in economics
in a school. Prepare ‘less than’ and ‘more than’ cumulative frequency distribution table from it.

(See Lesson-6)

Class No. of Student
0–20 5
20–40 7
40–60 23
60–80 3
80–100 2

6- uhps nh xbZ nks ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project of the given below.

(a) bu vkadM+ksa dk iz;ksx dj ,d dky lkfj.kh js[kkfp=k cukb,% (ikB&7 ns[ksa)
,d iQeZ dk okf"kZd ykHk

o"kZ ykHk (gtkj #i;ksa esa)
2009 65
2010 74
2011 80
2012 63
2013 85
2014 95

Draw a time series line graph on the basis following data:

Annual profits of a firm

Year Profit (Rs. in Thousand)
2009 65
2010 74
2011 80
2012 63
2013 85
2014 95 (See Lesson-7)
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(b) fuEufyf[kr vkadM+ksa ls vk;r fp=k] vkòfÙk cgqHkqt ^ls de* rksj.k vkSj ^ls vf/d* rksj.k cukb,A

vad 0–10 10–20 20–30 30–40 40–50

foè;kfFkZ;ksa dh la[;k 3 10 14 10 3

Draw histogram, frequencies polygon, ‘less than’ ogive and ‘more than’ ogive from the data
given below.

Marks 0–10 10–20 20–30 30–40 40–50

No. of students 3 10 14 10 3
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